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QUESTION 1

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD

QUESTION 2

The integration team has reported a problem in testing a few deployed MDBs. By design, each MDB listens to one of
four named queues. Two producers write messages to each queue. The test issues messages of the same payload
type that each producer will send, but varies the number or size of these messages to measure the messaging server\\'s
performance.

The team has noticed that the utilization remains at the same high rate any time the test writes messages destined for
the third MDB. The message server log does not reveal any failure in sending messages to this MDB. Which
anticipation expresses cause for this condition?

A. Hot Potato

B. Leaky Abstraction

C. Cache less Cow

D. Golden Hammer

Correct Answer: A

QUESTION 3

During a security audit, it is noted that your application is vulnerable to SQL Injection attacks.
100% Real QandAs | 100% Real Pass

Which two action would you perform to address this vulnerability?

A. Use parameterized stored procedures with the embedded parameters.

B. Add a text input validation filter to check user-supplied data.

C. Configure user permissions in the deployment descriptor.
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D. Configure security roles in the deployment descriptor.
E. Deploy the Internet facing nodes in a well defined demilitarized zone (DMZ) layer.
F. Use parameterized stored procedures with the principle of least privilege.

Correct Answer: AB

QUESTION 4

An investment company has purchased a number of small online business referral systems that appeal to various niche
demographics. The company wants to bring these networks together in hopes of finding a broad, single theme and
brand image for these groups before they can do that, they need to get the users communicating with outside their
current networks.

Which Web Services pattern would you recommend they consider in building a scheme to accommaodate this
communication?

A. Asynchronous Interactions
B. PAOS Interactions

C. Web Services Broker

D. JMS Bridge

Correct Answer: A

QUESTION 5

Which two functions are essential parts of a service oriented architecture (SOA) infrastructure?
A. The service provider, which executes business logic in a stateless fashion

B. The service consumer, which accesses services from the service repository

C. The service repository, which stores software component metadata

D. The service broker, which delivers well-defined service-level agreements

E. The service look-up facility, which provides a central resource for naming and access

Correct Answer: AC
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